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2. BEDER
7oAl 43 tb & 7 oAl 3 tb &
1. |YIrEE 111 86.0% 5. |HFHERE 1 0.8%
2. |MEREEEEX 8 6.2% 6. |ATEFDRE 0 0.0%
3. |[EEEREX 7 72%| 7. |0 2 1.6%
4. |NEMEEEE 0 0.0%
3. BXIR
[ ' T 94 [ 7205 [ Btk [ 17 [ 132% [ Zke | 18 | 14.0% |
X EREFEROBEIT. E-HFEAKTHLE
4. EeFix
B OE| 45 34.9% [eegmE 2 1.6% [|—#FFE| 15 11.6%
®ZE | 52 | 403% | ®ES | 8 6.2% |zt | 7 5.4%
X ERFEDOBAIT. E-HFETHLE
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: ey = 21 16.3%
B E"ihﬁa’_?u "'“\é“tﬁmﬁ 3 EBZ#\&L\;IiFEL‘j 1 0.8%
REERTH=0IZEBL
TL3H, 4 TIELN] 0 0.0%
5 IEFHEixt &I 0 0.0%
1 &Ly 102 79.1%
BHERDOEOI28N |2 EBoMEVRIETELY] 25 19.4%
A [FERTHY. BEFSh= (3 EH5oMEVRIETEL 0 0.0%
BEREoNTLNSD, 4 TIELY] 0 0.0%
5 [EFHEixt &I 2 1.6%
1 &Ly 83 64.3%
EEMBEEREZ-. |2 EBELNEVZIEF 44 34.1%
M |ShERMLGFERICKUERS |3 EBoMNEVRIXTELY 1 0.8%
nTuhan., 4 T{ELY) 0 0.0%
5 [EFHEixt &I 1 0.8%
1 &Ly 63 48.8%
_ . L. |2 EBsmELRIETELY 56 43 4%
nppy | ZECRENRTILS 13 Frohena BN | 5 3.9%
° 4 TIELY) 1 0.8%
5 IEFHEixt &I 4 3.1%
6. BRIEHMFEREE
S — REFih ZRER = REE = a i
FEmAEER) Hb B O|SHMEAER| b R |FHMESSR| b F |FHMEHSR| kb =
1- i/ b 2 1.6% 1 0.8% 1 0.8% 1 0.8%
2- N 117 90.7% 117 90.7% 117 90.7% 17|  90.7%
3- g = 6 4.7% 7 5.4% 7 5.4% 7 5.4%
4+ #8 N 0 0.0% 0 0.0% 0 0.0% 0 0.0%
5- #h =) 0 0.0% 0 0.0% 0 0.0% 0 0.0%
6" BE - BiE 0 0.0% 0 0.0% 0 0.0% 0 0.0%
7- RLIE - BEIE 0 0.0% 0 0.0% 0 0.0% 0 0.0%
8- # b 4 3.1% 4 3.1% 4 3.1% 4 3.1%




7. BEHN—&
EIFER 1:VIMEX 2. hREETESE 3. TEREEX 4. NHNEEEX 5. EFUEE 6. 5TEFDXRE 7: 201t
EBEFKX 10 2:HK 3: 70k
EFiEFE 1. EHEE 2:i5FEEFE 3. —HFF 4. 5. 8#EHE 6: 704t
FEERS 1530 2: 5500 EVRIKXTELY] S EBELMNEVZIXMELY] 4:EB5MEVZIXTELY] 4:{BLY 5: 5l HR 4
FE@FIE 143 2 IRKHMEEF 3. E 4.4/ 5:#E 6. BE-BE 7 -KL-Bit 8 #&4F

&7 ws . RS .| B0 =% | =5k Sl Check I Action
No| = | HHR FH-2R4E il I CT IS < pre=rms peeeyrs pryrerms precyre ey iy preTy =y E
1 10104 |38 2% BRERFMILEBREABERESE 31,000] 2 1 3 1 1 1 2 2 2 — 2 2
2 10105 (32 2% BREFMILBESE 38,300| 2 1 3 1 1 1 2 2 2 — 2 2
3 10106 | 38 2% EREEEMEBASE 114.816] 2 1 1 1 1 1 1 2 2 — 2 2
4 10110{/K & HEREREV/KTKESEE 19,137 3 1 1 1 1 1 1 2 2 2 2 2
5 10111]7K 8 ERIHEK LI MR B R 5 116,358| 3 1 1 1 1 1 1 2 2 2 2 2
6 1012|322 =% 9 ANEMBIHEEE 49,000 3 1 3 1 1 1 1 8 8 — 8 8
7 10113(3¢ =% TEEFMEHESEE 68,000 3 1 3 1 1 1 1 2 2 — 2 2
8 10114(32 =% REHEEXEFEREUMEE 5440 1 1 4 1 1 1 1 2 2 2 2 2
9 10115(3F % BRERMGIEGEBIEE 19,000 1 1 4 1 1 1 2 2 2 2 2 2
10 | 10116|{X Rfi% | MREEMINEEE 51,904] 1 1 3 1 2 2 2 3 3 — 3 3
11| 10119|{FRfFiE |SAHNEBEFHRBEIRESE 11,479 1 1 1 1 2 2 1 2 2 — 2 2
12| 10120|(X RFa7% | OMCATNIEEE 202| 1 1 1 2 2 2 3 2 2 — 2 2
13 | 10122|{dEEAE  |ZEESRBRAMEESE 60,000 3 1 4 1 1 2 2 2 2 — 2 2
14 | 10124| X EBEFE BNAV—ETEE 4571 2 1 3 1 1 2 1 2 2 — 2 2
15 | 10125|4x Bffs |BTEN\RETEE 75,000( 2 1 2 1 1 2 1 2 2 — 2 2
16 | 10126| D EBAER  |AR—VIRBIE BRI ARESE 7158] 1 1 5 2 1 1 2 2 2 — 2 2
17 | 10128|#8 %% KERAGRSENERSEE 1,006 1 1 1 1 1 1 1 2 2 — 2 2
18 | 201012k EEREARRLESNFHIEEE 2,296 1 3 4 1 1 1 1 2 2 — 2 2
19 | 20102| 2K RERFEREBRRESNFHEEE 203] 1 3 4 1 1 1 1 2 2 — 2 2
20 | 20103[E EREEREHESAESER 6,395| 1 2 5 1 1 1 1 2 2 — 2 2
21 | 20104|ZiEkL FLERTEHESEERE 3,568 1 2 4 1 1 1 1 2 2 — 2 2
22 | 201052k BENVA—FIRBSEEMEE 6,450 1 2 4 1 1 1 1 2 2 — 2 2
23 | 2010622 AREXREWSES R A FMEHEEE 352 1 2 4 1 1 1 1 2 2 — 2 2
24 | 20107|E2iEL AREREREES(RERR) N THHEEE 105 1 2 4 1 1 1 3 2 2 — 2 2
25 | 20108( =y ARBRHIIBEESHFHEEEER 499 1 2 4 1 1 1 3 2 2 — 2 2
26 | 20109| = BEREHNRAXEESN FHIEERE 597 1 2 4 1 1 1 3 2 2 — 2 2




ETEIE

1:YINEE 2:5&

BEEHEEE 3 LEEREE 4 NNEEEE 5. EBENEE 6.

FTEFDRE 7: D

EEFHR 1.0 2:HF 3:F0i

EEFiE BEE 25 EHE 3:—IEF 4:@BE 5. 8EE 6: 70

B i =%,y Bl 2: 8550 EVNZIENELY] 3:EELMEVNRIENMELY] 4:EB5MENVAIXMELY] 4:{ELy 5:FHExI &4

EREFIE 1:¥hFE 2:IRIKHERE 3 E 4R:§ﬁll\ 5:#6 6:BE-#%E 7. A1E-FEiE 8§k

s = 2k | ERBED FHfi Check FI7E Action

No ke BHERE E*ffﬁ 2 DB B s —R|ZxR| N8| =k | &
27 2 AREREEHLEE (BERRMBL) FHHSEE 9 1 2 4 1 1 1 3 2 2 — 2 2
28 B EERSEHRESHIFHAEE 1275 1 2 4 1 1 1 4 2 2 - 2 2
29 J=i ZHEAIBEE IR & 58,417 2 1 4 1 1 2 1 2 2 — 2 2
30 = EXEREICEEESNTHEKEX 3547 1 3 4 1 1 1 1 2 2 — 2 2
31 B FRAEEYR—IEZE 10,500 1 2 4 1 1 1 1 2 2 — 2 2
32 B PREXFICEESMNFEHREEX 5282 1 3 4 1 1 1 1 2 2 — 2 2
33 B HEBR U7 —BEEEHEE 289,886 1 2 4 1 1 1 2 8 8 - 8 8
34 KEMFE |MTAMNEEEE 92281 3 1 1 1 1 1 1 2 2 — 2 2
35 KEWE |RAMEMREESE 4177 4 2 4 1 1 1 1 2 2 — 2 2
36 KEMFE |AEEEERRKRE 5065 5 1 6 1 1 1 1 2 2 — 2 2
37 KEMTE |MEAMER-BOFEENESE 2,000 1 1 4 1 1 1 1 2 2 — 2 2
38 KEWME |FRAFIESSHDEEE 498 1 1 4 1 1 1 2 2 2 — 2 2
39 KEMIE [RERERSLRBEESFFHREE 19] 1 1 4 1 1 1 1 2 2 — 2 2
40 KEWTE |RERERTILEEESHFHHREE 41 1 1 4 1 1 1 1 2 2 — 2 2
41 KEMTE [BEERILEESFFHHRSE 982 1 1 4 1 1 1 1 2 2 — 2 2
42 KEMFE |RERMEERNEGERWMESE 250 1 1 4 1 1 1 1 2 2 — 2 2
43 BIENE |BIFREEXE 17,966 1 2 4 1 1 1 1 1 2 — 2 2
44 EIEY |PIECEREESHFHHEEE 8,771 1 3 4 1 1 1 1 2 2 - 2 2
45 PEE  |SDSEMTiifEESRE 66,227| 1 1 1 1 1 1 2 3 3 — 3 3
46 PEEK |EEILHBAEEE 23,147 1 1 1 1 1 1 1 1 1 — 1 1
47 EITEY |RAVIHh—FHEEEERE 540| 1 2 6 2 2 3 2 3 2 — 2 2
48 PEITEY |BEEEHRERESE@EDS 3,000[ 1 3 4 1 1 1 1 2 2 - 2 2
49 PBITENE |EXXEEXE 5380 1 3 4 1 1 1 1 2 2 — 2 2
50 PEBME |REEREXIERE 900 1 1 4 1 1 1 2 2 2 — 2 2
51 BEITEY |[ARVNEEXGERESFEDY) 0 1 3 5 2 2 2 2 2 2 — 2 2
52 BIEY |[ANVIEEEEFOY) 4000 1 3 5 2 2 2 2 2 2 — 2 2
53 EIEN |[ANVIEXREELUARFEDY) 260 1 3 4 2 2 2 2 2 2 — 2 2




EEER 1:VIFEXE 2. mREEEEE 3. TEELREE 4. ANEEEE 5. EHFNEE 6!

EETEK 187 2:HK 3:FDi

EEFE 1:EE 2:f5EEHE 3. —HEFF 4P 5 88BF 6: 20

FTEFDRE 7: D

FHER S 1:30 2: 8660 EVRIKXIFLY] 3:EEoNEVAZIETEL 4:E50MEVRIENMEL] 4 ELY 55Xt R
FMmFIE 13k 2 FRKiE 3.oE 4R:§ﬁll\ 5:#8 6:BE-BE 7. /K1L-BEik 8:##&
R 3H e = - EHBD FFffi Check FI7E Action
No| o | #HIR BHERE BERSE| s LEE] o s AEALSIEAR
54 | 20154|E TER: |BABSEMEE 6,350 1 2 4 1 1 1 1 3 3 — 3 3
55 | 20155|Bg THEIN |[Fa—'vIJz7EEERX 16,500 1 1 3 1 1 2 2 2 2 — 2 2
56 | 30101(@ERCEY |BRERDSER 35584| 1 1 3 1 1 1 1 2 2 — 2 2
57 | 30102(@ERCEY |FPHEEEE 21,686) 1 1 3 1 1 1 1 2 2 — 2 2
58 | 30102|fgER_ Lt | FHEEEXR(BA) 8,489 1 1 3 1 1 1 1 2 2 — 2 2
59 | 30103|{gEC Lt [BFRESE 6,324 1 1 3 1 1 1 1 2 2 — 2 2
60 | 30104|fEER_C1 |RLERADMREE 3,395 1 1 6 2 2 2 2 2 2 — 2 2
61| S30105|fERC LY [BREALVE—EREE 987| 1 1 1 2 2 2 2 2 2 2 2 2
62 | 30106|{gREC Lt |BEOKYEERBERWMEE 350 1 2 4 2 2 2 2 2 2 2 2 2
63 | 30107|{gEEC LY |[ERMEMBERT—a AIREBERKDY 186 1 1 6 2 2 2 2 2 2 — 2 2
64 | 30108|{gpEEC Lt |ERMEBMEERT—avBiEE 1,100| 1 1 5 2 2 2 2 2 2 — 2 2
65 | 30110|{gREC Lt |HEEFESIHEE 5500| 1 1 1 1 1 1 1 2 2 — 2 2
66 | 30112|{gREC Lt |PHIPIEEVI=VEEEREE 1,009| 1 1 4 1 2 2 2 2 2 — 2 2
67 | SO1S|@EECEE |TMEARBMMER 1,000[ 1 1 1 1 1 1 1 2 2 — 2 2
68 | 30116|{EECEY [ERBFYR—IEX 1,221 1 1 1 1 1 1 1 2 2 - 2 2
69 | 3017t |ERERFREFEXESE 6,520| 1 3 4 1 2 2 2 2 2 — 2 2
70 | 30118|{@EE_ L |thiBERMEFEMIESE 14,700 1 1 4 1 2 2 2 2 2 — 2 2
71| 30119|{@EEC LY A REERENMEE 28,200 1 1 1 1 1 1 1 2 2 — 2 2
72 | 30121(fg8%k EEESHOOMEESERBEE 600 1 1 4 1 1 1 2 2 2 — 2 2
73 | 30122|f@#t NEFLBEREE 480 1 1 6 1 5 5 2 2 2 — 2 2
74 | 30123[fg34k EESAENANENRBEREMBEE 758| 1 1 6 1 1 1 1 2 2 — 2 2
75 | 30124[3341k EESAENNENIVY—BREMBEE 900| 1 1 6 1 1 1 1 2 2 — 2 2
76 | 30125(f3# EEEN\RBREDREE 8,750 1 1 1 1 1 1 2 2 2 — 2 2
77 | 30126 |fz#t ERENE BN —HEBREE 11,340 1 1 1 1 1 1 2 2 2 — 2 2
78 | 30127(3g34k ZENVZTEEBWMER 2377 1 1 4 1 1 1 2 2 2 — 2 2
79 | 30128(fg4t ARG A —EEEE 3044 1 1 4 1 1 1 1 2 2 — 2 2
80 [ 30129[f34ik WESRESE 5316 1 1 1 2 1 1 1 2 2 — 2 2




EEER 1:VIFEXE 2. mREEEEE 3. TEELREE 4. ANEEEE 5. EHFNEE 6!

FTEFDRE 7: D

EBEFKX 1:0 2:HK 3:F0ih

EEFiE 1:EE 2:5EFHE 3. —5HEFFR 4.#hE 5. 81HE 6: 701

FHER S 1:30 2: 8660 EVRIKXIFLY] 3:EEoNEVAZIETEL 4:E50MEVRIENMEL] 4 ELY 55Xt R

FMmFIE 13k 2 FRKiE 3.oE 4R:§ﬁll\ 5:#i5 6:BE-FE 7. KIE-FEiE 8:#&k#

R 3H e = . = 9)) =i ST{fi Check #IE Action

No| g | BHR LR REFIH| s Fi& [omt]apn]pEe —R[ R[] =K%
81 | 30130|f@4t A EE R A —EEEREE 23,500[ 2 1 2 1 1 2 2 2 2 - 2 2
g2 | 30131[f34k Br-2YZANENEFLIMEEE 2,640 1 1 1 1 2 2 2 2 2 — 2 2
83 | 30132|sm4t Br-EVahBSEMBO DBEAEMBEE 1,620 1 1 1 1 5 2 2 2 2 — 2 2
84 | 30133|fm4t SEnEASTEBADREE 275| 1 1 1 1 1 2 2 2 2 — 2 2
85 | 30134|fR4t SN EERERATLEE 5106 1 1 1 1 1 2 2 2 2 — 2 2
86 | 30135|fg4t NEY—EREFRERIBEDREE 6,884 1 1 1 1 1 2 2 2 2 — 2 2
87 | 30136|tm4t HEEIEAFAE BRI B EE 50| 1 1 4 1 1 1 1 2 2 — 2 2
88 | 30137(f34lk EEXERTIREEE 6,354 1 1 3 1 1 1 1 2 3 — 3 3
89 | 30139(f34lt NEANEBUEAMBRIIESE 5300 1 1 5 1 1 1 1 2 2 — 2 2
90 | 30140|fg4t M ESXIEL I —EEERE 9,850 1 1 3 1 1 1 1 2 2 — 2 2
91 | 30141|sg4t i ES R R A — R BASE 2,466| 1 1 1 1 1 1 1 8 8 — 8 8
92 | 40101|HFHRIE | PERBFEGHEE 4500 1 1 1 1 1 1 2 2 2 — 2 2
93 | 40102|HBFHIE |[NPERREEHRSE 1,350 1 1 1 1 1 1 2 2 2 — 2 2
94 | 40103|HBFHIE |[INERBMEREE 9,938| 1 1 1 1 1 1 2 2 2 — 2 2
95 | 40104|HBFHIE |[NERUZHBEE 1619 1 1 1 1 1 1 2 2 2 — 2 2
96 | 40105 B#FE |/NEREAIXEHEEE 18,141 1 1 1 2 1 2 2 2 2 — 2 2
97 | 40106|HFHFE |[/NEBRNIVAYNEAGHBIEE 140[ 1 1 1 2 1 2 2 2 2 — 2 2
98 | 40107 (% FFE |FHhMLEXESRE 3125 4 1 1 2 1 2 2 2 2 — 2 2
99 | 40108|HBFHFE |[NFRBENTDEGMEE 619 1 1 1 1 1 1 1 2 2 — 2 2
100| 40109|HEFHIE |PEREMEREE 8,938| 1 1 1 1 1 1 2 2 2 — 2 2
101 40110|HBETE |TERMEKBEE 2,331 1 1 1 1 1 1 2 2 2 — 2 2
102 40111 |HBEHRTE |TERBENTBEMBEE 3,800| 1 1 1 1 1 1 1 2 2 — 2 2
103| 40112(f@EEC E 4 |FAIHMEMBER 3,000 1 3 4 1 1 1 1 8 8 — 8 8
104 40114|HBFHRE |BETRN\AF—REEXE 8,794 1 1 1 1 1 1 2 2 2 — 2 2
105| 40115\ BF#IE |[EFEEPFEANEE 16,451 1 1 1 1 1 1 2 2 2 — 2 2
106 | 40116|%FHHFE |[Pa—EHEHESE 3136] 1 2 4 2 2 2 5 2 2 2 2 2
107 4017 |HBFHRFE |BIESFFREFHEMNREE 19,597 1 1 4 1 1 1 2 2 2 2 2 2




EIFER 1:VIOMEX 2. hREETESE 3. TEREEX 4. NHNEEEX 5. EFNEE 6. 5TEFDXRE 7: 201t
EBEFKX 1:0 2:HK 3:F0ih

EeFiEz 1:EE 2:15FEEHE 3. —IFT 4:whE 5. 8EHE 6: 701t

RS 150 2: 5500 EVRIKXTELY] S EBELMNEVAIXMELY] 4:EB5MEVZIXTELY] 4:{ELY 5: 5t &R 4
FMEEIE  1:HFE 2 KM 3:.E 4:fE/ 5.8 6. BE-BE 7 KiE-BEIE 8:##&

B IE ws . RS .| EB0| =% | =5k Sl Check I Action
No| = | HHR FH-FRE BEESR| MR | Xk | T [pmn|aan o] avE —R| —R| 08| =K ]| &
108| 40119|HFHFKE |EAHMEREBREFRERSE 360,140| 3 1 1 1 1 1 5 2 2 — 2 2
109| 40121 |#E#HEF |MEXFEREEE 2,000( 1 3 1 1 2 2 1 2 2 — 2 2
110| 40122|EEAR |BEEERERETEXIESE 1,000| 1 1 4 1 1 1 1 2 2 — 2 2
11| 40123|3tE#%E |[HILFr—&=F 80[ 1 1 1 2 2 2 2 2 2 — 2 2
112| 40124|3t£#HFE | XILEBEHE 350| 1 3 4 1 1 1 2 2 2 — 2 2
113 40127|1t4£#%E |EHXLiREEE 1,500 1 1 1 1 1 2 2 2 3 — 3 3
114 40128|#t &% EF |=MiLERHBIEE 3,800 1 3 4 1 1 2 2 2 2 2 2 2
115 40129|#t&#E |[REEEH(RE-RRERE)BASE 8451 1 1 1 1 2 2 1 2 2 — 2 2
116| 40132|#tL#HEF |RAR—Y-LRFEHBIEE 1,000| 1 3 4 1 1 2 2 2 2 — 2 2
117| 40133|#HE#HF |AR—YXILEBEREE 1,000| 1 3 4 3 2 2 2 3 3 — 3 3
118| 40134|#1&#HF |YBETMH100km ISV EE 900 1 3 5 2 1 2 2 2 2 — 2 2
119| 40135|#t&#HET |[VPEREXKIEHHVT] 3410[ 1 1 1 2 2 2 2 2 2 2 2 2
120 40136|#1 BT |[BARERBEN = BBREREE 1,298 2 1 1 1 1 2 2 3 3 3 3 3
121 40138|{dEEAER |BAIFYLOOT—FFE 3,380| 1 1 5 1 1 2 2 2 2 — 2 2
122 40139|HBFHIE |RIBBFEX of 1 1 4 1 1 1 1 2 2 — 2 2
123| 40140 FHLFE |HMEXREE 3318 1 1 4 1 1 1 1 2 2 — 2 2
124| 50101 |#a7% SRR GEIEES 19,239 1 1 4 1 2 2 1 2 2 — 2 2
125| 50102|#a%% ik O<Y R B2 44 B 11,000{ 1 1 4 1 1 1 1 2 2 — 2 2
126 | 50104875 [LERERITEE 5544| 1 1 3 1 1 2 1 2 2 — 2 2
127| 50106 |#a7% R—LR—UEHEE 924 1 1 3 1 1 1 1 2 2 — 2 2
128| 501074875 ASBFHEHIEERXIEER 297 7 1 1 2 2 2 5 2 2 — 2 2
129| 50108|#a75 BETHESE X 2817 7 1 1 2 2 2 5 2 2 — 2 2




EIFER 1:VIOMEX 2. hREETESE 3. TEREEX 4. NHNEEEX 5. EFNEE 6. 5TEFDXRE 7: 201t
EBEFKX 1:0 2:HK 3:F0ih

EeFiEz 1:EE 2:15FEEHE 3. —IFT 4:whE 5. 8EHE 6: 701t

RS 150 2: 5500 EVRIKXTELY] S EBELMNEVAIXMELY] 4:EB5MEVZIXTELY] 4:{ELY 5: 5t &R 4
FEEFIE 1453 2 IRKMEEF 3. E 4.4/ 5:#E 6. BE-BE 7 -KiL-Bit 8 #&4F

3 =00 ey == .

R 5 FEA mgsrn|E0| B | R |___FE Sheo o e
(E30) B | BEE| A DRE| AT —R [ ZR ([ S| =X

1 111 94 45 107 102 83 63 2 1 0 1
2 8 17 2 21 25 44 56 117 117 10 117
3 7 18 15 1 0 1 5 6 7 1 7
4 0 — 52 0 0 0 1 0 0 0 0
5 1 — 0 2 1 4 0 0 0 0
6 0 — — — — — 0 0 0 0
7 2 — — — — — — 0 0 0 0
8 — — — — — — — 4 4 0 4
129 129 129 129 129 129 129 129 129 11 129




